Essem
Design

The Art of Welcoming

Nostal

e

i kladstall

Inkluderat i férpackningen*
*Hyllor, kroklister mm. behéver képas till for att f& ett komplett klcdstal.

Dubbelsidigt - Dubbelsidigt - Enkelsidigt - Enkelsidigt - Spaljé - Spaljé -
grund péabyggnad grund péabyggnad dubbel enkelt

2 T-stativ 1 T-stativ 2 L-stativ 1 L-stativ 2 traspaljé 1 trdispaljé
2 stag 2 stag 2 stag 2 stag 2 dubbelfdiste 2 enkelféste
4 stallifstter 2 stallfstter 4 stallfstter 2 stallfstter 4 M8x50 skruv | 4 M8x50 skruv
6 plugg 30x40 | 3 plugg 30x40 | 6 plugg 30x40 | 3 plugg 30x40 | 12 tréiskruv 6 tréiskruv
32 M6 skruv 16 M6 skruv 16 M6 skruv 8 Mé skruv

32 skruvbricka 16 skruvbricka 16 skruvbricka | 8 skruvbricka

32 skruvhatt 16 skruvhatt 16 skruvhatt 8 skruvhatt

24 blindpropp 12 blindpropp 12 blindpropp | 6 blindpropp

16 mutterskydd | 8 mutterskydd 16 mutterskydd | 8 mutterskydd

8 M8x45 skruv | 4 M8x50 skruv | 8 M8x45 skruv | 4 M8x50 skruv

8 M8 lasmutter

4 M8 lasmutter

8 M8 lasmutter

4 M8 lasmutter

Essem Design
+46(0) 371 19410
info@essem.se
WWW.essem.se

4 golvicisten

2 golvfasten



mailto:info@essem.se

Essem
Design

The Art of Welcoming

Monteringsanvisning
Det behdvs tva personer fér att montera denna produkt. Montera stéllningen fran vénster till hager.

Verktyg som beh&vs: Skruvdragare/mejsel, stjcirn- och torxbits, monteringshammare och 2 blocknyckel 13”

1 | Slai 30x40 pluggen i stativens éndar samt skruva i stéllfstterna. Har du
golvfasten se instruktion fér detta.

Har du spaljé, ldgg trdspalién pé golvet och skruva dit féisten med
triiskruven i de fordefinierade halen pé tréspalién. Fastena &r véindbara och
fungerar &t bada hallen.

¥

3 | Montera spaljé med ett stativ och stagen. Séitt M8 skruvarna frén utsidan

' genom spaljéfdstet, stativ och stag. Bérja med det nedre staget. Muttern ska
sitta pd insidan av klddstdllet. Bortse fréin spalié om detta inte ingér i er
|3sning.

1 Fortséitt med stativen och stagen till dnskad léngd. Om kladstéllet Gven ska
avsluta med spaljé, montera den p& samma sitt som forsta.

Oppna upp férpackningarna fér tillképta Nostalgi hatt-/skohylla eller
Kroklist eller 291 hatthylla. B&rja montera véanster konsolerna fér
produkterna pé stativen med skruvbricka och Mé skruv. Den skélade ytan
pé& skruvbrickan ska vara emot skruvhuvudet. Glém inte skruvhatten for dold
skruv. Tré pa ankarkroken pa valfri rundstav och sétt ditt rundstaven i forsta
konsolen.

G | Anpassa nésta konsol genom att tré in rundstavarna i konsolen och sedan
fast konsolen pé néista stativ enligt punkt 5. Om ndsta &r en mellankonsol
ska rundstavarna métas i mitten.

i

Efterdra skruv och mutter som féister stagen ordentligt. Téick béade skruvskalle
och mutter med mutterskydd. Tryck ditt blindproppar fér de hal som inte har
konsoler.

S Skruva ditt stoppskruvarna ordentligt for konsoler och ankarkrokar
tillhérande hyllor och kroklister.

Nl

Essem Design

+46 (0) 371 194 10

info@essem.se

Wwww.essem.se 2


mailto:info@essem.se

Essem
Design

The Art of Welcoming

Nostalgi coat stand

Included in the package*

*Racks, hook strips etc. needs to be purchased to get a complete coat stand.

Double sided - | Double sided - | Single sided - Single sided - Trellis — Trellis —
basic extension basic extension double single

2 T-stand 1 T-stand 2 L-stand 1 L-stand 2 trellis 1 trellis

2 mefal braces | 2 metal braces | 2 metal braces | 2 metal braces | 2 double fitting | 2 single fitting
4 adjustable feet | 2 adjustable feet | 4 adjustable feet | 2 adjustable feet | 4 M8x50 screw | 4 M8x50 screw
6 plug 30x40 3 plug 30x40 6 plug 30x40 3 plug 30x40 12 screw 6 screw

32 Mé screw 16 M6 screw 16 M6 screw 8 M6 screw

32 screw washer | 16 screw washer | 16 screw cap 8 screw cap

32 screw cap 16 screw cap 16 screw cap 8 screw cap

24 cover plug 12 cover plug 12 cover plug 6 cover plug

16 nut cover 8 nut cover 16 nut cover 8 nut cover

8 M8x45 screw | 4 M8x50 screw | 8 M8x45 screw | 4 M8x50 screw

8 M8 locknut 4 M8 locknut 8 M8 locknut 4 M8 locknut

Essem Design

+46(0) 371 194 10

info@essem.se
WWW.essem.se

4 floor mounting

2 floor mounting



mailto:info@essem.se

Essem
Design

The Art of Welcoming

Assembly instructions
Two people are needed to assemble this product. Assemble the stand from left to right.

Tools needed: Screwdriver/chisel, Phillips and torx bits, assembly hammer and 2 block wrenches 13”

1 Punch in the 30x40 plug into the ends of the stand and screw in the
adjustable feet. If you have floor mounting, see the instructions for this.

If you have a trellis, place the trellis on the floor and screw the fittings with
the screws into the predefined holes on the trellis. the fittings are reversible
and work in both directions.

v

3 Assemble the trellis with a stand and the braces. Insert the M8 screws from
) the outside through the trellis fitting, stand and brace. Start with the bottom
brace. The nut should be on the inside of the coat stand. Disregard trellis if
this is not part of your solution.

4 | Continue with the stands and braces to the desired length. If the coat stand
is also to end with a trellis, mount it in the same way as the first.

Open the packaging for the purchased Nostalgi hat/shoe rack or Hook
strip or 291 hat rack. Start mounting the left brackets for the products on the
stand with a screw washer and Mé screw. The cupped surface of the screw
washer should be against the screw head. Don't forget the screw cap for
hidden screw. Thread the anchor hook on any staff/bar and insert your
staff/bar into the first bracket.

6 | Fit the next bracket by threading the staffs/bars into the bracket, then attach
the bracket to the next stand as per point 5. If the next is a middle bracket,
the staffs/bars should meet in the middle.

i

Retighten the screw and nut that secures the braces properly. Cover both
screw head and nut with nut cover. Press your cover plugs for the screw
holes that do not have brackets.

8 | Tighten the set screws properly for the brackets and anchor hooks belonging
to the racks and hook strips.

Nl

Essem Design

+46 (0) 371 194 10

info@essem.se

www.essem.se 4


mailto:info@essem.se

